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A. Gravity
B. Friction
C.) Normal force
D. Spring force
E. Tension

Which force in a
Gravitron makes you
go on acircle?
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Today:

 Forces in uniform circular motion
— Gravitrons
— A spinning water bucket B
 Work and Energy: ;:‘Z\
— Kinetic energy T
—Work done by a single force r 1‘”
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A mass m rotates with constant speed at the end of a rope in a
circle of radius r on a horizontal frictionless surface.

Which of the following is the correct free-body diagram for
the forces acting on the mass?
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A coin of mass m rests at the edge of a horizontal platter

of radius r.

If the coefficient of static friction between coin and platter
IS ug, what is the maximum speed v of the coin so that
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the coin does not slip?
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